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BEIEE BHEEA a4 L b | L—y
1 meEk mE x 1 1
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INEEBF1000m
BEIEE BEE4 EEPN > | L—y
1 =) 4.04.49 3 1 3
2 EE XM 4.35.38 4 1 2
3 PHE Bzh x 1 4
4
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BEIESL GEEA S RPN » # L—y
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—#8 B F1000m
BEIEEL BHEE4A 84 L * #H L—y
1 B R 3.17.43 1 1 7
2 NH BA 3.39.93 2 1 6
3 R - x 1 5




INEHE L F1500m

BANEM BHEA a4 L F # L—>
1 B Wk 6.52.22 5 1 1
2
3
INEHE B F1500m
BANEE HmEEA 44 L v # L=y
1 A Bt 5.28.83 1 1 3
2 fast & 5.54.45 2 1 5
3 pv: J/N 6.07.77 3 1 4
4 HEa 5 6.40.14 4 1 2
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#BEIREL a4 84 L = # L=y
— B F1500m
BEIEE BEE4A a4 L E § # L—y
1 [ 1::l ¥ 3 4.38.79 1 2 3
2 miR B 4.41.15 2 2 6
3 MAE &R 4.55.99 3 2 2
4 WA % 5.01.01 4 2 4
5 W R 5.03.38 5 2 11
6 Xig HE 5.04.09 6 2 8
7 A+ Aok 5.13.09 7 2 1
8 €F [ 5.16.32 8 2 9




NE BA

5.33.24

10

10

RA #=

5.40.36

10

1

[

12

13

14

15

16

17




— i 2cF3000m

BN BEEA 4L | # L—y

1
— % 58 F3000m

#BAMRE BEEA B4 L * # L=y
1 KO EA 9.36.95 1 1 3
2 B Ex 10.51.38 2 1 4
3 B & 10.59.99 3 1 1
4 nH B 11.00.29 4 1 7
5 B8 AAXE 11.01.20 5 1 6
6 Wi BA 11.51.61 6 1 2
7 AN+E gA 12.24.15 7 1 5




